CHM 3150 Organic Chemistry II
Dr. Laurie S. Starkey, Cal Poly Pomona
Chapter 21, Enols & Enolates, Part 1 — Practice Problems

Arrange the following protons in the order of
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INCREASING acidity (from least acidic to most acidic).
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Predict the major product.
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4| Predict which site will react with one equivalent of LDA.
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Predict the major product.
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If the reaction shown uses an excess of Br, and
goes to completion, a total of how many bromine
atoms will be in the final product?
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Provide a mechanism for the following bromination reaction.
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Of the following, which compound is in equilibrium
with the greatest percentage of its enol isomer?*
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' Arrange the following protons in the order of

INCREASING acidity (from least acidic to most acidic).
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Predict the major product.




Which drawing represents LDA
(Iithirum dusopropylamide)?
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Predict which site will react with one equivalent of LDA.
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Predict the major product.
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Of the following, which 1s most likely to be an intermediate
in the mechanism of the given reaction?
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[f the reaction shown uses an excess of Br, and
goes to completion, a total of how many bromine
atoms will be in the final product?
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Of the following. which compound 1s in equilibrium
with the greatest percentage of its enol 1somer7*
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